TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO. **INSTRUCTIONS:** Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: 0581-NEW cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. Laboratory Approval Programs (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)AverageDATE PREPARED 14-Feb-08

(K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
					REPORTS				RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
7 CFR 90.1 (f) 91.5 (6)	PROGRAMS 1. Trichinae in Pork Program ● Initial letter requesting entrance	none	10	1.0000	10.00	0.5000	5.00			0.00	
	Checklist	none	10	1.0000	10.00	0.1700	1.70			0.00	
	• Training	none	10	1.0000	10.00	7.5000	75.00			0.00	
	Analyses of test samples	none	10	1.0000	10.00	2.5000	25.00			0.00	
	Initial on-site laboratory review	none	10	1.0000	10.00	1.5000	15.00			0.00	
	Analyses of proficiency test samples	none	10	1.0000	10.00	12.0000	120.00			0.00	
	SUBTOTAL				60.00		241.70	0.00		0.00	
	TOTAL OF ALL PAGES				584.00		5,674.80	82.00		20.50	

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMMARY OF I	FORMATION COLLE	ECTION			Page 2 of 5
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c			666.00	5,695.30		

SUMMARY OF INFORMATION COLLECTION USDA-AMS

0	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	Laborator America Discours	0581-NEW
cois. (D) &/oi (1) – 13a (respondent is only counted once), cois. F & 1 – 130, cois. 11 & K – 13c.	Laboratory Approval Programs	
(F)Total/ (D) Total = (E) Average (H) Total/ (F) Total = (G) Average		
(K)Total/(I)Total = (J)Average	I I	DATE PREPARED
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		2/14/2008
years list as "1/6" & decimal will display	l ·	1

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
				REPORTS							
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
	Trichinae in Pork Program [contd.] Annual onsite laboratory review	none	10	1.0000	10.00	1.5000	15.00			0.00	
90.1 (d) 91.5 (6)	Poultry Exported to Russia Program Initial letter requesting entrance	none	36	1.0000	36.00	0.5000	18.00			0.00	
	Checklist & SOP	none	36	1.0000	36.00	40.0000	1,440.00			0.00	
	Analyses of test samples	none	36	1.0000	36.00	12.0000	432.00			0.00	
	Analyses of proficiency test samples	none	36	1.0000	36.00	24.0000	864.00			0.00	
90.1 (d) 91.5 (6) 983.1 996.22	Aflatoxin in Pistachio, Peanut, and Almond Programs Initial letter requesting entrance	none	36	1.0000	36.00	0.5000	18.00			0.00	
	SUBTOTAL				190.00		2,787.00	0		0.00	

	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) $\&$ /or (I) = 13a (respondent is only counted once); cols. F $\&$ I = 13b; cols. H $\&$ K = 13c.	Laboratory Approval Programs	0581-NEW
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average		
(K)Total/(I)Total = (J)Average		DATE PREPARED
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		2/14/2008
years list as "1/6" & decimal will display		1

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
			REPORTS					RECORDS			
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
	3. Aflatoxin in Pistachio, Peanut, and Almond Programs [contd.] • Checklist & SOP	none	36	1.0000	36.00	20.0000	720.00			0.00	
	Method validation	none	36	1.0000	36.00	26.0000	936.00			0.00	
	Analyses of test samples (2 sets)	none	36	2.0000	72.00	2.7500	198.00			0.00	
	Initial on-site laboratory review	none	36	1.0000	36.00	0.7500	27.00			0.00	
	Analyses of proficiency test samples pistachios (export)	none	5	1,0000	5.00	25.0000	125.00			0.00	
	– pistachios (domestic)	none	7	1.0000	7.00	15.0000	105.00			0.00	
	SUBTOTAL				192.00		2,111.00	0		0.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	Laborator Approval Dramana	0581-NEW
cois. (D) \otimes /or (1) – 15a (respondent is only counted once), cois. $r \otimes 1$ – 150; cois. $n \otimes K$ – 15c.	Laboratory Approval Programs	0301-111 77
(F)Total/ (D) Total = (E) Average (H) Total/ (F) Total = (G) Average		
(K)Total/(I)Total = (J)Average		DATE PREPARED
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		2/14/2008
vears, list as "1/6" & decimal will display.		1

IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
				REPORTS					RECORDS		
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
	Analyses of proficiency test samples [contd.] peanuts	none	12	1.0000	12.00	12.0000	144.00			0.00	
	– almonds	none	12	1.0000	12.00	30.0000	360.00			0.00	
	Annual on-site laboratory review	none	36	1.0000	36.00	0.7500	27.00			0.00	
90.103	RECORDKEEPING (including Trichinae in Pork Program; Poultry Exported to Russia Program; and Aflatoxin in Pistachio, Peanut, and Almond Programs)	none			0.00		0.00	82	0.250	20.50	
91.43	ALTERNATE PAYMENT FORM	ST-212	82	1.0000	82.00	0.0500	4.10			0.00	
					0.00		0.00			0.00	
	SUBTOTAL				142.00		535.10	82		20.50	